3 Algebra 2 Polynomial Functions Test Review Unit 2
N M Thwwason pae
§ What you Things to remember Problem Problem
need to know
i & be able to
i do
§ Classify » Wirite all answersin | 1. List all the names for 9
i POIYnomIOIS Standard Form Deg[ee; v f(x) =x+2-x*- 4x* .
i
v > test 0-_0gmsiant . ¢
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q opposite)
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Algebra 2 Polynomial Functions Test Review Unit 2
[ What you need Things to remember Problem Problem
to know & be
able to do
Inverses Finding Inverses 1. f(x) = 3x - 7; find f~1(x) 12. () = 2x +3;find g7 (x)
* Replace f(x) with
J f) Y =24 -1 x:_b_%_*_g -
* Switchx&y L 47= __g,t ) Xr" P ‘30):;’,,—)%
¢ Solve fory 3 ¢
Proving Inverses 13. f(x) =2x-75; g(x)——2x+5 14, f(x) =2x+8; g(x)=lx 4 )
e Use compositi = \ L 2
« flgt) b 10 w_)f; 2('2*?) i Rgo= 2(aigts 3%» j '(f’f_4
= -4 X+10 —X -R 4
* @)=« Zap+6  NO! 723 3 i /3k
Characteristics | a) Domain: x values 155 Domain: (- g0 | @)
of Polynomial R s 00 )
Graphs b) Range:y values nac: ( ’
Zeros: - 3 5Dy
c) Zeros: x-intercepfs (-1.869, 6.065) PRI L,
d) # of extrema- /\ 5 Relative max: (-l : g(o,q (0.0 5)
fushing poinis { Relative min: (0.535 770,87 q
e) Relative max: Absolute Max: NOY1E
yELEahpeas Absolute Min: nom €.
f) Relative min: y- | Intervals of inc: (-00,-1. qu) U )
values at valleys V I ok ot Hoe (Ob?’g,a"’
L (1.%4,0.535)
g) Absolute Max - 9 0 End behavior:
highest y-value (0.535, -0.879) As x - +0oo, f(x) -
e -0
h) Absolute Min - Asx oo, f(x) 2. =0
lowest y-value :
v Leas+ Poscible
i) Intervals of o de ﬁ vee, - 3
increase: x-values 4
where graph is
rising toward right 16. 4\ | 7 Do (_ 60 )
10. |

i) Intervals of
decrease: x values
where graph is
falling toward right

k) End behavior:
direction that the

(0.319,[8,643)

o

Réingec (23124, 09)
-2 1 -l ) 2
# of extrema: 3

Leros:

Relative max: (0,319, . (p'-f'S)

Absolute Max: NMeé.

ends of the graph Absolute Min: (-
are going comhs (I L b ‘2?-)
Intervals of inc: (1.5, 0.319)| V
Intervals of (2,2)
e defu.b“cq)u(o 314, 2)
End behavior:
0 (2,0) 5 | Asx - +oo,f(x) »_SQ
As x = —oo, f(x) - e
least poss.
(-1.5¢9, -3.124) s gree.
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